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(L] Section A: Reading
Read the passage carefully and answer the questions that follow:
In a peaceful town nestled among green hills, there stood a charming old library that had been
serving the community for more than fifty years. It was built by a generous man named Mr.
D'Souza, who strongly believed that knowledge should be accessible to everyone, regardless of
age or background. Over the years, the library became a hub of learning and imagination.
Children would gather there after school to read storybooks, while adults often visited to
explore newspapers, research materials, or simply enjoy some quiet time. The library also
hosted regular storytelling sessions and reading clubs, making it a place where ideas were
shared, creativity was encouraged, and friendships blossomed. Sadly, the library was recently
at risk of being closed down due to a shortage of funds. This news deeply upset the local
residents. However, a group of enthusiastic school students stepped forward with
determination. They organized book fairs, donation drives and awareness campaigns. Their
efforts inspired the entire community to contribute in any way they could. Eventually, enough
money was raised to keep the library open. The incident served as a powerful reminder that
even small actions, when done together, can lead to meaningful change and preserve valuable
resources for future generations.
Q1. Tick the correct answer:
a. Who built the library in the town?

i) A group of teachers ii) A wealthy businessman
iii) Mr. D'Souza iv) The government
b. What was the library at risk of?

i) Being renovated ii) Being moved to another town
iii) Being closed due to lack of visitors  iv) Being closed due to shortage of funds

Q2. Fill in the blanks:
a. The library was a place where creativity was encouraged and blossomed.
b. A group of school students organized and

Q3. Why was the library important to the people of the town?

Q4. What message does the passage convey?




(L] Section B: Grammar and Writing Skills

Q1. Identify the type of nouns and write these against the correct category:

jury mobile city laptop
honesty London happiness flock
Rahul grief bouquet Einstein

classroom Team January bravery

COMMON NOUNS PROPER NOUNS COLLECTIVE NOUNS

ABSTRACT NOUNS

Q2. Fill in the blanks with suitable Conjunctions:

a. | was tired, | went to bed early.

b.Heis notonlyasinger _ also a composer.

c. We stayed indoors it was raining heavily.

d. he tried hard, he could not win.

e. you apologize  face the consequences.

Q3. Rewrite these sentences by changing the gender of the nouns denoting people and
animals:

a. The king rode his horse across the battlefield.

b. The host welcomed all the guests warmly.

c. My nephew helped the old man carry the heavy basket home.

d. The peacock spread his feathers proudly during the dance.




Q4. You are Rishabh/Riddhi, a resident of 18/36, Model Town, New Delhi. Write a letter to
the Editor of The Times of India expressing concern over increasing traffic and pollution near
your school. Suggest steps that authorities can take to resolve the issue.
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MATHEMATICS (Class 7)

WORKSHEET

1. Multiple Choice Questions:
I. What is the value of -8 + (-3)?
(a) 5 (b) -11 (c)-5 (d) 11

Il. What is the fraction of the shaded area?

(a) 2/3 (b) 1/3 (c)Va (d) None of these

I1l. The difference between maximum and minimum value of a data is called
(a) frequency (b) median (c) mean (d) range

IV. Mean of 11,12,13,14is
(a)9 (b) 10 (c) 11 (d)13

2. Write a negative integer and a positive integer whose
a)sumO0
Ans (a)

b) difference -4
Ans (b)

3. Fill in the blanks:
(a) The value of %xgis

(b) 4.7+10 = -

() [(-7)+8]+(__)=9+[-7+4]

(d) The middle value of the data arranged in increasing or decreasing order is called

4. (a) Find the mode and median of the data: 12,14,15,18,14,19,14,13,9.
Ans (a)



(b) Are the median and mode same for this data?
Ans (b)

5. A car covers a distance of 89.1 kmin 2.2 hours. What is the average distance covered by itin 1
hour?

Ans 5.
6. Read the double bar graph carefully and answer the 4
following questions: TMO I W BG?:SS
210 T
(a) What is the information given by the double graph? I ;-‘;‘180 |
Ans. §Zis0 |
251 20 T
(b) Which mode of transport do girls use more than boys? 5% 90 +
Ans. S&e0 ¢
30 +
(c) Which mode of transport boys use the most? 0| Schoolbus  walking Bycye  Other vehicles
Ans.

(d) In which mode of transport number of girls is half the number of boys?
Ans.

7. Assertion and Reasoning:

I. Assertion (A): 12is % of 24.

Reason (R): % x24=12.
a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c)Ais true butRis false.
d) Ais false but Ris true.

Il. Assertion (A): Mean is Sum of all observations divided by Number of observations.
Reason (R): Mean = (12 + 34 + 45 + 50 + 24)/5 = 165/5 = 33.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c)Ais true but R is false.

d) Aisfalse but Ris true.



Ill. Assertion (A):§+ (—g) = 1.

Reason (R): g x (— %) =-1
a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c)Ais true but Ris false.
)

d) Aisfalse but Ris true.

8. Solve the following:

(a) (15) x 8 +(-15) x 4 (b) [82+2 x 17 + (-6)] + 159.
Ans (a) Ans (b)

9. Find:

@55 (b) Zx2

Ans (a) Ans (b)

(c)3+3 (@7Z+2

Ans (c) Ans (d)



10. Case Study:

Sushant reads % part of a bookin 1 hour. Lipika reads 1 % part same bookin 1 hour.

(a) How much part of the book will Sushant read in 2 % hours?
Ans (a)

(b) How much part of the book will Lipika read in 2§ hours?
Ans (b)

(c) Who reads more in1 hour and by how much?
Ans (c)



Science Worksheet
Grade 7

Q1. Write True or False:

Plants are called autotrophs because they prepare their own food.
Litmus paper remains blue in an acidic solution.

A fuse is made of a high-melting-point alloy to prevent circuit damage.
Chlorophyll is necessary for photosynthesis.

Electromagnets lose their magnetism when the current is switched off.

g o=

Q2. Fill in the Blanks:

1. The process by which plants make food using sunlight is called

2. is a natural indicator that turns red in basic solutions.

3. In an electric circuit, the is used to start or stop the current flow.

4. The symbiotic relationship between *Rhizobium* and leguminous plants help in
fixation.

5. The magnetic effect of electric current was discovered by

Q3. Read the following assertion & reasoning and choose the correct option:
(a) Both A and R are true, and R explains A.
(b) A is false, but R is true.
(c) Both A and R are false.

1. Assertion (A): Fungi growing on bread are considered saprophytes.

Reason (R): They secrete digestive juices on dead organic matter to absorb nutrients.

2. Assertion (A): Lemon juice turns blue litmus paper red.

Reason (R): Lemon juice contains citric acid, which releases H* ions in solution.

3. Assertion (A): Toothpaste is slightly basic in nature.

Reason (R): It neutralizes acids produced by bacteria in the mouth, preventing tooth decay.
4. Assertion (A): Tungsten is used as the filament in electric bulbs.

Reason (R): Tungsten has a high melting point and glows without melting.

Q4. Do as directed:
1. Label the parts of a stomata.

2. Draw and explain an electric circuit with a bulb, switch, and battery.



Q5. Give reason for the following:
1. Antacids are used to treat indigestion.

2. Tungsten is used as the filament in electric bulbs.

Q6. Match the Following:

Column A Column B
1. Photosynthesis (a) Magnetic effect of current
0. Turmeric (b) Autotrophic nutrition
0. Electric bell (c) Natural indicator
0. Saprophytes (d) Synthetic Indicator
0. Methyl Red (e) Feed on dead matter

Q6.Answer the following questions:
1. Why do insectivorous plants trap insects even though they can perform photosynthesis?

2. Why does a compass needle deflect near a current carrying conductor?

3. Why do lemons taste sour but are still good for health? Give 2 reasons for your answer.

4. What happens to the pH of soil if excess chemical fertilizers are used? How can farmers fix it?

5. An electric heater glows but its connecting wires do not. Why?

6. Explain how crop rotation helps replenish soil nutrients.




Q7. Read the following case studies carefully.

Electromagnets in Daily Life

Rahul visited a junkyard and observed a large crane lifting heavy scrap metal effortlessly. The operator
explained that the crane uses an electromagnet powered by electricity. When the current flows, the
electromagnet attracts iron and steel objects. Once the scrap is moved to the desired location, the current
is switched off, releasing the metal pieces.

Answer the following:

1. Why does the electromagnet lose its magnetism when the current is turned off?

2. How can the strength of an electromagnet be increased?

3. Give one more real-life application of electromagnets.




Class 7
HOLIDAY HOME WORK
Social Science Worksheet

Q1. Multiple Choice Questions

1. Which type of healthcare facility is costly?
(a) Private (b) Public
(c) Both (a) and (b) (d) None
2. Members are elected by

(a) People (b) Citizens of India above 18 years old. (c) Children  (d) Men

3. The job of governor is :
(a) To appoint Chief Minister (b) To appoint ministers of the state

(c) Aand b both (d) None of the above

4. The pastis divided into many

(a)Years (b) Periods (c) Hours (d) None of the above
5.Public means an activity or service:
(a) Meant for all people in the country (b) Mainly organized by the government
(c) Meant only for the poor people (d) Both (a) and (b)

6. Prithviraj-lll was the famous ruler of__

(a) Delhi (b) Madhya Pradesh (c) Rajasthan (d) Mysore
7. is not a natural ecosystem.
(a) Aquarium (b) Forest (c) Desert (d) None of the above

8. First midday meal
(a) Tamil Nadu (b) Uttar Pradesh (c) New Delhi (d) Karnataka

9. Civil rights movement
(a) America (b) Russia (c) India (d) Ukraine

10. Communicable disease
(a) Spreads from one person to another  (b) Spread when they talk

(c) None curable diseases (d) None of the above

Q2. Fill in the blanks.

(i) Health, Railways, Education etc. are the departments of the
(i) India is amongst the largest producers of




(iii) Jatis were the on the basis of economic status.
(iv) When any person is treated badly, their dignity is

(v) Most of the tourists come to India for check-up.

(vi) The is the layer of earth which surrounds the earth.
(vii) Kitab al-Hind was written by ____.

(viii)  Every Indian State has its Assembly.

(ix) Manuscripts are script.

(x) Diseases, pollutants, and bad atmosphere affect our

(xi) Right to voteis a right.

(xii) Somnath temple was destroyed by
(xiii)  The topmost layer of the earth is
(xiv) is the key feature of democracy.

Q3. True and False

(i) Forest dwellers were pushed out with the increase in the settlement. ( )

(ii) Kalhana was a great poet from Kashmir. ()

(iii) Rent was the resources obtained from the producers. ()

(iv) World Environment Day is celebrated in June in 5th June. ()
(v) MLA’s sit in the Parliament. ()

(vi) Some MLAs are appointed as ministers by the governor. ()
(vii) Article 14 talks about equality. ()
(viii) India is a republican country. ()
(ix) Biotic Consists are the dead organisms. ( )
(x) In the Barter system people used a method of exchange. ()
(xi) Public healthcare is governed and funded by the government. ( )

Q4. Assertion and Reason Questions.
. Read the statements and choose the correct option.

There are two statements given below, marked as Assertions (A)
and Reasons (R)



(0]

(0]

1) Assertion (A): The people, place, things and nature that
surrounds a Living organism is the environment.

Reason (R): It constitutes the natural and manmade phenomena
existing on this planet Earth which helps in sustaining life.

(a) A'is true but R is false (b) Both A and R are true

(c) Bis true but A is false (d) Both A and R are incorrect

2) Assertion (A): Early humans learned to grow crops and domesticate
animals to live a settled life.

Reason (R): They met their all requirements through the environment
(a) Both A and R are correct (b) A'is correct but R does not explains A

(c) Both are incorrect (d) OnlyRis correct

3) Assertion (A): India is considered as a democratic country because
every person is equal in the eyes of law.

Reason (R): A person having a high qualification degree and who belongs
from the higher caste gets all the opportunities in India

a.) Only A'is correct and R is not the explanation of A b.) Only R is correct
c.) Both are incorrect’ d.) Only A'is correct and R is the explanation of A.

4) Assertion (A) : A person who is free from all the diseases but is not active
an remains dull all day due to mental stress and long tiring day is
considered to be

Reason (R): A person needs to be free from diseases in order to stay
healthy.

(a) Only R is correct (b) Both are correct and R is the explanation of A.
(c) Only Ais correct (d) Both are incorrect

5) Assertion (A): The uppermost layer over the Earth’s surface is called
Crust.

Reason (R): The thinnest layer of all the layers of the earth’s surface is its
uppermost layer.

a.) Only A'is correct b.) Both A and R are correct and R explains A
c.) Only R is correct d) Both are incorrect



Q5. Case Based Questions.

Case Study 1: One particularly prized area was the city of Kannauj in the Ganga valley.
For centuries, rulers belonging to the Gurjara Pratihara, Rashtrakuta and Pala dynasties fought for
control over Kannauj. Because there were three “parties” in this long-drawn conflict, historians
often describe it as the “tripartite struggle”.

1.) Where is the city of Kannauj ?
2.) Rulers belonging to which communities fought for control over kannauj?
3.) How do historians describe the fight over Kannauj?

Case Study 2: Members of the Legislative Assembly (MLAs) are elected by the people. They
then become members of the legislative assembly and also form the government. In this way we say
that the MLAs represent people. Every state in India has a Legislative Assembly. Each state is divided
into different areas or constituencies. From each constituency, the people elect one representative
who then becomes a Member of the Legislative Assembly (MLA). These MLAs, therefore, belong to
different political parties. A political party whose MLAs have won more than half the number of
constituencies in a state can be said to be in a majority. The political party that has the majority is
called the ruling party and all other members are called the opposition. For example, the Legislative
Assembly of the state of Madhya Pradesh has 68 MLA constituencies.

1.) How are the MLAs elected?

2.) What are constituencies?

3.) Who is known as the opposition?

4.) How many MLA constituencies does the state of Madhya Pradesh have?

Case Study 3: Lithosphere is the solid crust or the hard top layer of the earth. It is made up
of rocks and minerals and covered by a thin layer of soil. It is an irregular surface with various land
forms such as mountains, plateaus, plains, valleys, etc. Landforms are found over the continents and
also on the ocean floors. Lithosphere is the domain that provides us forests, grasslands for grazing,
land for agriculture and human settlements. It is also a source of mineral wealth.

1.) What is Lithosphere?

2.) What is lithosphere made of?

3.) Where are the land forms found?
4.) What does Lithosphere provide us?



